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Kev answers Mark
1) A=3"(1+3+9) = 3% x 13 0.5
A is a multiple of 13 since 3%* is a naturel number. 0.5
a® =44 +V7): 0.25
a . | . .
2) ) b‘=§+%+2ﬂl%dé=dt+wﬁ:a"= 4b= 0.5
b) a=-2b 0.25
forallx; x° = 0 then —2x% < 0 0.5
—y = [, 0.1s
|3 T e 0.25
hence _—F_Z:rll] .23
False.
Before reduction: x is the price of a ball and 2x the price of 2 balls.
After reduction:
4) | 1 ball: 0,85 x ; Price of 2 balls: (0,85 x) x 2 = 0,85 x (2x) 1
The price of 2 balls decreased by 13%
We can think in this way: if this student was right and if he buys 7 balls, then
the seller should pay him because the reduction will be 105%
Part A Mark
1) Alx) = —15x 4+ 14x+ 8 0.25
A(x)= (1- x)(6x- 8) + 16 — 9=
) Alx) =2(1-=)(3=- 4) + (4 — 3=)(4+ 3x) 0.15
= . 0.25
Ax)=2(1-=)(3=-4) - 3z — 4)(4+ 3x) 0
Ax) = (3x— 4)(—2-5x) -
Ax)=0 forx= 2 0.15
: 0.25
of
— 2 I:. & F4
o x=-c 25
) ) Alx) = 8 0.23
—15x“+14x+8=28
—15x% + 14x =0 0.25
x(—15x+ 14) =0 D-'T
14 —0 -
X =z Orx=
Part B
1} xa&gaud :-:=—§ 0.5
2 - = 0.25
2) Ei};j 2x—d
3) —— = _ then 3x — O = 3x — 4; the equation has no solution 0.5
2x—4 3
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Pythagoras: AC=2a, so BC'=4a"+ 3" ; with BC = 0, therefore BC = a\."'g 0.25
:} avs
AM= 0.25
BI'»:LI%. isosceles and M is the principal vertex, therefore MAB = MBA ; 0.5
a) (AM) //(BE’). E‘Bﬁ and I'-'Ir!l.B are alternate-interior angles. thus
B'BA = MAB thenB'BA = MBH. and [BA) is the bisector of CBE".
3) Same for: [CA) bisector of BCC'.
ML Right angle andB'BA = CAC', same complements 0.5
b)|BB' B'A AB a 1
AC CC CA 22 2 0.2%
By areas nfﬁBC.EﬂH x BC=7 AB x AC 0.5
OR 0.5
a) | Using the similar triangles BAH and ABC. -
AH x BC=AB x ACand AH = ABXAC _ 2&" _ 23 _ 2a8
__. EI: B ﬂ'\."g - \-'E B S
A is a point on the bisector of CBB'; therefore A is at the same distance 0.25
1) from the sides of the angle. So AH = AB'". Same for AH = AC".
V5 25
ThereforeB'C’ = 2AH = ~= 023
5 0.25
b) | BB’ =2 AC', using 3) b) then BE' ="
0.25
cC'= 7B’ﬁ using 3) b). Hence CC" =12 x 225 usmg 4} a)
o =35
CcC .
| . 0.25
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although it is not requested. we have completed the drawing.
AB*=(2-3)"+(5-2)"=1+9=10:ACC =16+4 =20 0.5
2) |BC* = 9+ 1=10; AB=BC et AB® + BC* = AC® _
Therefore ABC is right isoceles. The right angle is at B. 0.15
a) | ABCD is a square. 0.5
3) b) Different ways for calculation: using the midpoint S({1:3) or AD = BC: | 0.3
D({0; 1)




y —ve_-2_ 1 0.5
(DT) // (AC),slope: a =2FE="" = E
4) | a) I 4 2 0.25
and D belengs to (DT), therefore y = -—x+ 1.
b) | Ordinate of T 1s equal to zero. T(2 ;0) 0.25
a) x =5 or =3 0.25
S(1:3); Sﬁi“ = 51
i MS*=8SA"; MS' =5 0.25
Dy | A-D*+m-3)%=5; 0.25
m-32=5;m-3=V5orm—-3= —5; 0.25
m=3+'-.'r§ﬂrm=3—'u".§
1) [[(6=14)+({4=12)]=10=132 1.5
a) [ 5+15+50+30=100 0.25
S+
b) | (50 +30) = 100 = 0.8 or 80% E:] 15
Calculation of angles: 0,75
Number of mobile phones 0 1 2 3
Mumber of families 5 15 50 30
Angles 18° 54= 180* 108"
P 0.5+
Vo, o ™~ 0.25
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Circle graph B -




